
Restar de Ceros (F)Halle cada diferencia.
1000 100 100 1000- 697 - 48 - 45 - 181
1000 100 1000 100- 129 - 21 - 844 - 13
1000 100 1000 100- 946 - 17 - 40 - 34
1000 100 100 100- 720 - 68 - 99 - 31
1000 1000 100 100- 622 - 872 - 25 - 24
1000 1000 100 100- 51 - 849 - 72 - 6

100 1000 1000 1000- 89 - 879 - 841 - 610
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Restar de Ceros (F) RespuestasHalle cada diferencia.
1000 100 100 1000- 697 - 48 - 45 - 181303 52 55 8191000 100 1000 100- 129 - 21 - 844 - 13871 79 156 871000 100 1000 100- 946 - 17 - 40 - 3454 83 960 661000 100 100 100- 720 - 68 - 99 - 31280 32 1 691000 1000 100 100- 622 - 872 - 25 - 24378 128 75 761000 1000 100 100- 51 - 849 - 72 - 6949 151 28 94100 1000 1000 1000- 89 - 879 - 841 - 61011 121 159 390
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